SEHIRE S

4 ETEE
n kv Fh 3L
L S E] ES
T2 FE 58, 252 29, 462 28,790 1,145 1,099 28,317 217, 691
T2l FEE 56, 504 28,520 217,984 1,168 1,103 21, 352 26, 881
TR2EE 55, 564 28,248 217,316 1,053 1,016 27,195 26, 300
T R23EE 53,918 21,501 26,417 1,010 943 26, 491 25,474
T2 5FEE 52, 057 26, 345 25,712 950 930 25,395 24,782
# & 21,079 10, 729 10, 350 - - 10,729 10, 350
(B8R K) 1,270 647 623 - - 647 623
(BENR) 178 408 370 - - 408 370
(@ R ) 447 231 216 - - 231 216
(& K ) 588 299 289 - - 299 289
(m K ) 819 412 407 - - 412 407
(RE78XK) 1,351 682 669 - - 682 669
(B FK) 141 370 3N - - 370 3N
(£ RK) 1,054 520 534 - - 520 534
(%14 X) 1, 641 826 815 - - 826 815
(FERK) 1,476 77 699 - - 177 699
(#FEK) 1,283 668 615 - - 668 615
(B K ) 1,680 865 815 - - 865 815
( & K ) 1,286 638 648 - - 638 648
(B K) 1,112 548 564 - - 548 564
( % K ) 139 409 330 - - 409 330
( & ) 988 507 481 - - 507 481
(FEK) 2,066 1,027 1,039 - - 1,027 1,039
(&% X) 1,760 895 865 - - 895 865
noowyom 8, 286 4,176 4,110 - - 4,176 4,110
(g X)) 1,188 611 5717 - - 611 577
( = K ) 1,041 527 514 - - 527 514
(R K) 1,046 511 535 - - 511 535
(B2 K) 1,382 686 696 - - 686 696
(2 EK) 1,205 574 631 - - 574 631
(= 8 K) 1,533 155 178 - - 755 178
(BF £ K) 891 512 379 - - 512 379
R W 4,076 2,072 2,004 43 39 2,029 1,965
( & K ) 1,164 601 563 43 39 558 524
(R K) 1,359 675 684 - - 675 684
(m K) 1,553 796 157 - - 796 157
# R E W 2,518 1,306 1,212 32 22 1,274 1,190
T K 0w 1,475 125 750 62 54 663 696
#® = W 1,193 602 501 = = 602 591
BmOR W 2,590 1,27 1,319 - - 1,271 1,319
MR R E 691 317 374 106 142 211 232
F o4 oI/ ow 1,620 827 793 - - 827 793
2 F 0w 200 97 103 - - 97 103
= @& ' 221 95 126 - - 95 126
2 B 0w 839 421 418 364 350 57 68
E X W 1,158 562 596 - - 562 596
X #M 1,398 127 671 - - 127 671
#8 R W 820 423 397 - - 423 397
B E & W 172 389 383 - - 389 383
E M W 131 380 351 - - 380 351
mEMRW 199 109 90 82 56 217 34
# #® W 680 360 320 - - 360 320
¥ W ® 284 154 130 - - 154 130
£ ) mH 218 110 108 - - 110 108
P ) 152 n 81 I 81 - -
- B 247 122 125 - - 122 125
f H  H 16 6 10 6 10 - -
X HF H 112 65 47 65 47 - -
W B fr 64 21 37 27 37 - -
o de Er 26 15 1 15 1 - -
M R HT 96 46 50 46 50 - -
O H 20 9 1 9 1 - -
E B m 1 5 6 5 6 - -
= oA /OET 43 25 18 11 1 14 11
g ) H 209 96 113 - - 96 113
FOONLO# 13 6 1 6 1 - -
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